EXAM M QUESTIONS OF THE WEEK

S. Broverman, 2005

Question 1 - Week of July 25

A select-and-ultimate life table has a select period of 10 years. The force of mortality is
1 (t) = .01 during the select period, and the force of mortality is x(y) = .02 for some at age
y who is past the select period. Find an expression for the compl ete expectation EMH for t >0

The solution can be found below.



Question 1 - Week of July 25 - Solution

Wefirst notethat ¢, = & =50 for y > [2] + 10.
EM‘H = fooo sPla]+t ds for 0 <t < 10 and é[x]_,_t = éert for t > 10.
D)t = expl — [op(t+7)dr] = e for s <10 —¢.

For t <10, wecanwrite gy = €y, 11977 T 10-tPlaf+t * €[al410 -

It was noted abovethat ep,j,19 = 50, and 1g_ppp¢ = e 011070

o _ rlo—t 10—t _ o1 . 1 —e—-01(10-1)
And Cla]+4:10—1] = fg P+t ds = fo e ds = ——Fjr—

° _ —.01(10—
Thenfor t <10, ey = loem 200

57— + e M0 50 = 100 — 50e 110



